The AD-AS Model:  Short-run vs. Long-run Equilibrium
Long-run equilibrium occurs where the AD, SRAS, and LRAS curves all intersect.  At this point, the economy is producing its potential GDP, resources are fully employed, and the natural rate of unemployment prevails.  While the AD-AS model is much more complex than the PPC model, it may be helpful to picture an economy operating at a point on its PPC when it is in long run equilibrium.  This long-run equilibrium can persist until external forces or government policies “shock” the economy. 

In the “real world”, economic shocks are continuously occurring throughout the economy, impacting the AD or SRAS curves.  The actual level of real GDP and price level in the economy occur where the AD and SRAS curves intersect.  At a given point in time, this short-run equilibrium may occur to the left of LRAS (recessionary gap) or to the right of LRAS (inflationary gap). 

· Recessionary Gap:  Negative GDP gap w/ actual GDP below potential GDP; Unemployment rate is above the natural rate (cyclical unemployment exists) 

· Inflationary Gap:  Positive GDP gap w/ actual GDP above potential GDP; Unemployment rate is below the natural rate 

Recessionary and inflationary gaps can only persist as long as “sticky” input prices (most notably, nominal wages) haven’t fully adjusted to forces in the economy.  In the long run, input prices become flexible...for example, workers’ wage contracts expire and can be renegotiated to account for current economic conditions.  This is the economy’s self-correcting mechanism to restore long-run equilibrium. 

· With a recessionary gap, nominal wages will eventually fall and SRAS will shift right until it intersects AD at LRAS.  

· With an inflationary gap, nominal wages will eventually rise and SRAS will shift left until it intersects AD at LRAS. 

Due to this self-correcting mechanism, sustainable long-run growth of real GDP can only result from factors that shift the LRAS curve to the right.  These are the same factors that shift the PPC to the right... think about the “three pillars of growth” that increase labor productivity.  An LRAS shift to the right reflects the higher potential GDP that results from long-run economic growth. 

